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*

In the hyperbolic plane

I = (H11 ,2n ,

dr)
,
let

A = (0 , z) , B
= (0, 1) ,

P = (0 ,4) , k =
(7

,
3)

->

Find CEAB so that
FC= IQ

N

P !-
a

-

r
= SE

stS & PQ

i
x - - +

+ + + - 1 - 1 - ->

2 = 3



S1
:

We want to calculate
PQ

.

-

- dy(P, a)
We need PQ

.

Plug P = (0 , 4) and
G

= (7
,3)

into (x-c + Y = r?

We get
2

(0 - c) + (4)
=-17 - c + (3) = r = Q

c Ii
S

⑰=
- 14 + 58

I



16 =- 14 + 58

14 = Y2Wc =4 = 3

*

Mug c
= 3 into ① to get

⑱r = c + 16 = 9 + 16 = 25
r
= S

so
,

= chr
= 3 s-

Recall on C

L
r

we
have

an xi , =(in)



. ancn,an infl
= (1))) =

- In))

=(n((i))

⑰
~ 1 , 79



Now we need to find CfAB

where AC= In (61
.

Recall on a
we

have

" A zol a (X
, , IX - e

= /In(l)

We know C
= (0 ,3) .

We need to solve for I in :

(n(6) = da(A ,
C) = dr((0 , 2) , (0 , y))

= (In()) = In (5)
e

secze



SeeIn (5) >0

Need In 16)
= In (3) :

In is 1- , se
6 = E :

So , y
= 5 :

-



Anglesand Triangles)

ef: Let (8 , 2 , d)
be

-

a metric geometry
.
Let

A , B ,
C be noncollinear

from I .
points
The angle (ABC

is defined

y↳
3 <

langle in Euclidean) Janglyachyperbolic



Ite
: A ray or line can't

make

an angle since the
three points

have to be noncollinear .
That

rules out "Do" and "180"" angles .

Emme

Theorem : Let (8, 2 ,
d) be a

-

Let A ,
B

,
C
,
D
,
E
,
F

metric geometry .

be points , where
A ,
B

,

C are noucollinear

and D , E ,
F are noncollinear .

If LABC=
/DEF , then

B = E .

pryf: see notes . #

-
Thus , the following def is

Well-defined .



Hef
: Let (8, 2 ,

d) be a

metric geometry .

Let A , B ,
C

be noncollinear points

The vertex of
LABC is B .

-

A

R C

·

↑
⑳Vertex



De
: Let (8,4 , d) be a

metric geometry .

Let

nencollinear points .

A
,
B , C

be

L ABC is

The Ingle
defined to

be

JABC=
FBUSC UIA

/st
pome For ones)



Tem
: Let (8,2 , d) be a

metric geometry .

Let A , B ,
C

be noncollinear points and

I

D
,
E
,
be noncollinear points

.

If DABC= ADEF,

then A , B , CY
= ED , E , F3

1 See notes . #1000

-

This makes the next

definition well-defined .



Re: Let (12 ,
d) be a

metric geometry and
A
,
B
,
C

be noncollinear points .

The vertices of DABC
-

are A , B ,
C

.

The sides of A ABC
-

are #B
,
EC
,

and BC .

-

N: By HWd
#3(b)

,

DABC
= DBAC

= DCAB=

=DACB
= DBCA

= DCBA

-


